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What is the LVDS?
What is the LVPECL?
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LVPECL/LVDS output circuit
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Current-driving mode device



Balanced Device vs Unbalanced Device

¢ TTL/ CMOS OSC = Unbalanced Device

¢ LVPECL / LVDS OSC = Balanced Device

Advantage for Balanced Device

€ High noise immunity

€ Low power consumption
€ Low radiated noise

¢ High integration density
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PECL/LVDS Signal Analysis

LVPECL & LVDS signal : DC-signal + AC-signal

®Vc=("2)*(V1+V2) - Common Mode Signal
®Vd=V1-V2 --- Differential Mode Signal

|

¢ Vi=Vc +Vd/2
¢ V2=Vc-Vd/i2

ﬂﬂl:> Signal analysis can be implemented easily

by math. tool




LVPECL Testing circuit
Vce

@ Oscillator

Accurate Kinetic Energy

Vce - 2.0 volts




LVPECL Output Level & Waveform

LVPECL Q & QN Output Level
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LVPECL Output Waveform
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LVDS Testing circuit
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LVDS Output Level & Waveform
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LVDS Output Waveform
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Typical period jitter test data

Reading Floppy Disk Drive SETUP Ap@]w
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Period jitter (1 ¢ ) over 50,000 hits less than 1 ps
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